¥Yn3 caB HyTrMnH matematukunH JOJIOOOYIAAP onumnuaabiH AyH

7-p aHrun

CypryynuiH 1-p egep 2-p egep HUAT

Ne | OponuorygbiH OBOT Hap wasi BanTtracaH Oarw 7 5 3 [Byral 1 5 3 [Byral oHoo
1|Y.Bonopunmar 8-p cypryynb 0.0f 5.0 2.0 7.0/ 5.0 5.0f 5.0 15.0] 22.0
2{0.MaHbgapb BagH-Yyn 0.0l 5.0/ 2.0 7.0/ 3.5 0.5 5.0/ 9.0] 16.0
3|b.Japuiim baaHayH 0.0/ 3.0 15| 4.5 5.0/ 1.0 5.0 11.0] 15.5
4|6.basp 1-p cypryynb 3.0l 3.0/ 2.0/ 8.0/ 0.0f 0.5 5.0/ 55| 13.5
5|0.MeHx3yn 5-p cypryynb 5.0/ 5.0 1.0/ 11.0f 0.0] 0.0f 0.0] 0.0] 11.0
6|3.bonga YynyyHXopooT 0.5 0.0 2.0 2.5 0.0] 0.0] 5.0 5.0 7.5
7|C.r'an6agpax 'ypBaH3aran 0.0/ 2.5 2.0/ 4.5 1.0 0.0] 0.0 1.0 5.5
8|b.0Otron6aarap BagHayH 0.0l 0.0/ 0.5 0.5 0.0f 0.0f 5.0/ 50| 5.5
9|A.TymaHbasp Haw6anbap 0.0] 0.5 2.0] 2.5/ 2.0] 0.0f 0.0] 2.0 4.5
10|[.bysiH3ana XaH-Yyn 0.0/ 0.0 2.0 2.0f 0.5] 0.0] 0.0 0.5 2.5
11|Mpanmaa 5-p cypryynb 0.0/ 0.0 2.0 2.0f 0.5] 0.0] 0.0f 0.5 2.5
12|[.CypanxaB 'ypBaH3aran 0.0 0.0 0.5 0.5 0.0/ 0.5 0.0 0.5 1.0
13|6.baspuaHran YomnbancaH 0.0/ 0.0 0.0] 0.0f 0.0] 0.5] 0.5 1.0 1.0
14|[0.Hapanunmar YomnbancaH 0.0 0.0 1.0 1.0f 0.0] 0.0/ 0.0/ 0.0 1.0

8-p aHrm

CypryynuiiH 1-p egep 2-p egep HUAT

Ne | OponuorygsiH OBOT Hap wasir BantracaH 6arw 7 5 3 [Byral 1 5 3 [Byral oHoo
1|I".BaTxoHrop 1-p cypryynb 2.0 5.0 0.0] 7.0/ 0.5 0.5 0.0 1.0 8.0
2|b.JaBaacypaH ['ypBaH3aran 20| 1.0 1.0] 4.0f 0.5] 2.0] 0.5 3.0 7.0
3. Aaunouw YombancaH 1.0 0.0 0.0] 1.0 0.0] 5.0 0.5] 5.5 6.5
41X . XKapranaH 8-p cypryynb 5.0/ 1.0/ 0.0/ 6.0/ 0.0f 0.5 0.0f 0.5] 6.5
5|T.OwyHcyBAa YomnbancaH 0.5 0.0 0.0/ 0.5 0.0] 5.0/ 0.5 55 6.0
6/0.MeHxuauar YynyyHxopooT 25 1.0f 0.0f 3.5 0.5 1.5] 0.5] 25| 6.0
7|C. TyBWNHTYAA YynyyHxopooT 1.0] 0.0f 25| 3.5| 0.5 1.5 0.5] 2.5 6.0
8|b.bonop-OpaaHa baanayH 0.0/ 0.0 1.0] 1.0f 3.0 1.0] 0.0 4.0 5.0
9|E.YyraHxyy Hawbanbap 0.5 0.0 1.5 2.0/ 0.5 05| 0.5 15 3.5
10(©.CapaH BasH-Yyn 0.5] 0.0f 0.0] 0.5 1.0] 0.5 0.0] 1.5 2.0
11|M.Baatapcyx Hawbanbap 0.5 0.0 0.5 1.0f 0.5 0.0] 0.5 1.0 2.0
12(3.bypmaa 5-p cypryynb 0.5 0.0/ 1.5 2.0/ 0.0f 0.0f 0.0f 0.0] 2.0
13|B6.MaH4mmar 'ypBaH3aran 0.5 0.0 0.0/ 0.5 0.0 1.0/ 0.0 1.0 1.5
14[4.01ron6asp 12-p cypryynb 1.5 0.0f 0.0] 1.5] 0.0] 0.0] 0.0] 0.0 1.5
15|6.Tynra 12-p cypryynb 1.0/ 0.0/ 0.0 1.0/ 0.0f 0.0] 0.0f 0.0 1.0
16(Bbonopmaa XaH-Yyn 0.0/ 0.0/ 0.0/ 0.0f 0.5] 0.5 0.0 1.0 1.0




9-p aHrm

CypryynuiH 1-p egep 2-p egep HUAT

Ne | OponuorygbiH OBOT H3p wasi BanTtracaH Oarw 7 5 3 [Byral 1 5 3 [Byral oHoo
1>K.[JaBaaxapran Hawbanbap 1.0] 1.5 5.0 75| 1.5 0.0] 0.0] 1.5 9.0
2|©.HapaHrapasyy 8-p cypryynb 0.5 2.5/ 0.0 3.0 1.5 1.0f 2.0 4.5 7.5
3|OHxmaa baaHayH 25| 0.0 05| 3.0/ 1.5 1.0/ 0.0 25 5.5
4]Ll.CapaHynmar 1-p cypryynb 0.5 1.0/ 0.0 1.5 1.5 1.5 0.0] 3.0] 4.5
5|LapaHHsam Hawbanbap 0.5 1.0 0.0] 1.5 2.0 0.0f 1.0 3.0] 4.5
6| T.XKaprancanxaH 5-p cypryynb 0.0/ 0.0 0.0] 0.0f 1.5] 1.0] 0.0 2.5 2.5
7|6.Basipuauar XaH-Yyn 0.5 0.0 0.0/ 0.5 0.0 0.5] 0.0 0.5 1.0
8|>K.basipxxapran 5-p cypryynb 1.0 0.0 0.0f 1.0/ 0.0/ 0.0 0.0f 0.0 1.0
9|A.Xypanunmar BbasH-yyn 0.0/ 0.0 0.0/ 0.0f 0.5 0.0/ 0.0f 0.5 0.5
10| B.XyyxaH4ymmar baanayH 0.0/ 0.0 0.0] 0.0f 0.5] 0.0/ 0.0 0.5 0.5
11|I".Bonopuauar YynyyHxopooT 0.0/ 0.0 0.0] 0.0f 0.5] 0.0] 0.0f 0.5 0.5
12|B.BaTusuar baanayH 0.0] 0.0 0.0 0.0/ 0.0f 0.5 0.0f 0.5 0.5

10-p aHrn

Cypryynuiin 1-p egep 2-p egep HUNT

Ne | OponuoryasiH OBOr Hap wasir BantracaH 6arw 1 > 3 [Byral 1 5 3 [Byral oHoo
1|Llacan6aaTap 1-p cypryynb 4.0 5.0] 5.0( 14.01 0.5 0.5 5.0] 6.0 20.0
2|Y.Hapanxyy YomnbancaH 5.0] 5.0 2.0]12.0f 0.0] 1.0 5.0] 6.0 18.0
3|bambacypaH 5-p cypryynb 0.0/ 3.0 5.0/ 8.0/ 0.5| 5.0f 1.5 7.0] 15.0
4|U.Batsopur 1-p cypryynb 0.0f 5.0 15| 6.5 1.0 0.5 5.0 6.5] 13.0
5|A.Amapbar Hawbanbap 5.0/ 0.0] 5.0]10.0f 0.5] 0.0f 0.0] 0.5] 10.5
6|b.bagpmeHx Hawbanbap 0.0] 5.0/ 4.0/ 9.0/ 0.0] 0.0f 0.5] 0.5 9.5
7|U.LlapaHgaBaa 8-p cypryynb 4,01 3.0/ 0.0 7.0 0.5 0.0] 0.0] 0.5 7.5
8|I.batbaarap baanayH 0.0] 3.0 0.0f 3.0/ 0.0f 0.0 2.5 2.5 5.5
9| .baacaHxyy XaH-Yyn 3.0/ 1.0 0.0 4.0f 0.0] 0.0] 1.0 1.0 5.0
10(LI.OgoH4mmar YynyyHxopooT 1.0f 3.0f 0.0] 4.0] 0.0] 0.0] 0.0] 0.0] 4.0
11|BaTtmeHx baanayH 0.0] 3.0 0.0f 3.0/ 0.0f 0.0/ 0.0f 0.0 3.0
12|C.CapaHTynra 12-p cypryyns 0.5 0.0/ 0.0/ 0.5 0.5 0.0f 0.0f 0.5 1.0
13]|3.ApnyH-YHagapra 12-p cypryynb 0.0/ 0.0 0.0/ 0.0f 0.0] 0.0] 0.0f 0.0 0.0
14| X.Ooanrapuauar BagaH-Yyn 0.0 0.0 0.0/ 0.0] 0.0f 0.0f 0.0f 0.0 0.0

Bara aHrnnH 6arw

CypryynuinH y 1-p egep 2-p egep HUAT

Ne [ OponuoryabiH OBOr H3p wast MapraxxnuiiH 33par 7 > 3 [Byral 1 5 3 [Byra| oHoo
1]0.MeHxuauar BasiH-Yyn 40| 5.0/ 2.5]11.5] 0.5] 5.0 5.0 10.5] 22.0
2|Ll.OHxTyNa 12-p cypryynb 5.0/ 5.0 0.0]10.0f 0.0] 5.0f 1.0] 6.0] 16.0
3|H.Oanrapmaa 1-p cypryynb 5.0/ 5.0 0.0]10.0f 0.0] 0.5 5.0] 5.5] 15.5
41B6.0ryHxaHa baanayH 0.0] 0.0 0.0 0.0/ 0.5 5.0/ 4.0 9.5 9.5
5|T.lNapanuauar 5-p cypryynb 0.0 2.5 1.0 3.5 5.0 05| 0.0 55 9.0
6|C.OwyHuauar XaH-Yyn 0.0l 0.0/ 0.0/ 0.0/ 0.0f 0.5 4.0 45| 45
7|Bb.N"apamxaHg YynyyHxopooT 0.0l 0.0f 0.0f 0.0f 1.0f 0.5 0.0f 1.5 1.5
8|Y.bavranmaa Hawbanbap 0.0/ 0.0 0.0/ 0.0f 0.0 0.5] 0.0 0.5 0.5
9|J1.6Hepxapran 8-p cypryynb 0.0/ 0.0 0.0 0.0f 0.0/ 0.0/ 0.0 0.0 0.0
10|.Xypan6aaTap YonbancaH 0.0/ 0.0 0.0/ 0.0f 0.0 0.0/ 0.0f 0.0 0.0




BarmvH gyH:

TepnyyA

S OyH

y - S| S| S| =33
CypryynuitH Hap BaruiiH axnary 5 T T © = 5 | Aax
A O O‘?— g £ OHOO

N | oo o | = [ 1 =
1-p cypryynb XK. Jonropmaa 4 11 4.5 1 3 2.70
'ypBaH3aran L.NumHxopnoo 7 2 4.50
8-p cypryynb P.MeHx3yn 1 4 2 7| 9.5 4.70
baaHayH [.Man6aatap 3 8 3 8 4 5.20
5-p cypryynb 0.OHxTysa 5| 12 6 3 5 6.20
Hawbanbap 0. 0awpopx 9 9 1 5 8 6.40
YonbancaH C.baatap 13 3 2] 9.5 6.88
basH-Yyn b.bat3opur 2] 10 9| 14 1 7.20
YynyyHxopooT N.Marmap>xas 6 6 11| 10 7 8.00
12-p cypryynb 12 12 2 8.67
XaH-Yyn Ll.Oynmaa 10.5[ 16 7 9 6 9.70




